=0

@ (2x+3)(x-3)

=0

@ (2x-3)(x+3)



2.

O|ZPA A 42 4 gx+6 = 0 2] 3F o] 30|
5x2—x+b=092 T 2L ™, a-b 9 G

e =
c

ohE 3 o] o
aolet



o g

1-a?

1+a

@ 4 3 2 @ 0

@D 6



(2x+1)(x—9)+25

(2x - 3)2

Al
H

@ x=-1

)

10 |

)
H

0



5.

FolAPAHA 2 +x-p=0,x*—gx-8=09] ¥

2p +q ° = ool

R
=

oft



ol
RS
olJ
o8

D xP-x-6=0 = x=2E=x=-3

@ (x-1)%?=3 = x=1+13

® -3x%+4x+2=0 = x



@ 17 3 19 @ 21 3 23

D 15



o|J
e

16x% +4dax+2a-3=0

® 4 3 5 @ 6 B 8

@D 2



9. oA 2 +5x+2=09 F TZa, g, 7+ ¥ o) 7re.

Fatolat,

e
c



o
<
of
o

G

i

i

Tod

ol
N

L—a =

A

(x+1)°

B:-1-+3

3 3

@ 1



O|ZP A A ax? + bx—10=0 2 7} -2, 5L W, a + b 9] FH2?

D -4 ® -2 3 1 @ 3 B 5



12.

ok 2%} Zo] 7kz] Zolsk Az el
Brh5m 71 HAZEY BoFe] Wl Eo 1m
2 A WELEY de el Yol 45 m?
7} £jgict. o] ge] Az Pol?

@D 3m ® 5m ® 7Tm @ 9m

B 11m



i
IS
ol
9|

oliR
Njo
,.mo

oln

#olrt.

Stof of

=ofl o

156
2x,_x

S EEEAST S

3

=2x? 9y

©y

©y=

o
Nl

=
ol
NI

—

® y=ax* 9 of




14. AH(k, 2) 7} ol y = fo of = fjoll A= i, k of 27

D +1 @ +2 ® +3 @ +4 ® +5



|

@

ol

® A (2, 3)= Ad.



16.

OGS y = ~242 9] e me} maol 21, HAPE AEA (1, 4)

—1Aua
QA olxFgtro] Ae y = ax? + bx + ¢ o] B2 e H?

D y=-2x24+4x+2 @ y=-2x2-4x+2

® y=-2x2+4x-2 @ y=-2x2+4x+4

® y=-2x>+4x-4



J93 22 o, o2 5 82 A2?
D ap+4g<0 @ ag-pg <0
®p2_q<0 @a+pq>0

® alp-q) >0




7}t

_;,q.

ojaFtr y = 2x% —4x + 3 Wy = x* + ax + b 2 FHAH ]

sfelet.

:ll

O
=

12 @, a+b 9] g

)



19.

w24
0, US_L

rlr I

a
()

x? —4x+ 6 I x ZI] wHol (2, 0) € o o2 &

@ (6, 0)
® (1, 0)

® (4, 0)



=

X2 —x+39 13

1

2

20. o2 S olASy



Folx =201
EE H5E2?

@ A7
@ FH&E7F 5



22,

o
a

Ay =2+ 2ax-bE=x=3

+b 2 Fotolet,

B
=¥

Q]
=

, 3

47

N



23, olAeH4 y = 2 + 2kt 4k O S m ol2t & W), m o] HUZES
317

D 1 @ 2 3 3 @ 4 3B 5



£3he Fotole,

SECE

<
Hi-

j—

27} 14 @

24.



25.

A O 2 HE 30m £°]9 AE 4olA 24 20m 2 HHZ 9|2
A4 29 249 x 2 §9 Eo 1E m 2}l Ol'tqy——5x +20x+30
o] TAZF Rt o] BA7} H Al ol =@ w7tz A9 A7t
v} 7w o] FolE Fstoiet.

o e 2
e = m



